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Thomas Edison knew his new invention, the lightbulb, would be revolutionary, but it's (1) ... that he
realised quite how much the introduction of (2) ... would affect the kitchen. The modern kitchen is
overflowing with electrical appliances. For a busy parent whose kids are hungry, the simplest (3) ... these
days is to take some frozen food out of the freezer and pop it in the microwave. It's been particularly (4) ...
for women - no longer do they have to stay all day chained to the cooker and the kitchen sink.

Про чи тай те текст. Вы бе ри те под хо дя щее по смыс лу слово из пред ло жен ных. B ответ за пи ши те
слово в той форме, в ко то рой оно долж но сто ять в пред ло же нии. Пом ни те, что каж дое слово может
быть ис поль зо ва но толь ко один раз и что за дан ную форму слова не об хо ди мо из ме нить. За пол ни те
про пуск (2).
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